Grade 5 Student Work Samples (ePAT #5) for
RICAS Mathematics: Calibrating Expectations Using Existing Student Work Samples
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This question has three parts.

Ben walked a distance of 1.2 kilometers. Alice walked a distance of 0.85 kilometer. Walter
walked a distance of 50 meters.

PartA
Whatis the distance, in meters, that Ben walked? Show or explain how you got your answer.

Enter your answer and your work or explanation in the space provided

The answer | got was 1,200.

PartB

How many more meters did Ben walk than Alice walked? Show or explain how you got your
answer.

Enter your answer and your work or explanation in the space provided

Ben walked 350meters more than Alice.

PartC

Whatis the total distance, in kilometers, that Ben, Alice, and Walter walked? Show or explain
how you got your answer.

Enter your answer and your work or explanation in the space provided

The total distance in kilometers is 2.1
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This question has three parts.

Ben walked a distance of 1.2 kilometers. Alice walked a distance of 0.85 kilometer. Walter
walked a distance of 50 meters.

PartA
Whatis the distance, in meters, that Ben walked? Show or explain how you got your answer.

Enter your answer and your work or explanation in the space provided

the distance that ben walked in meters is
1.2 x 1000 = 1200 meters

PartB

How many more meters did Ben walk than Alice walked? Show or explain how you got your
answer.

Enter your answer and your work or explanation in the space provided.

what i did was i subtracted 1.2 and 0.85 and i got my
answer.My answer was 2.05

PartC

What i the total distance, in kilometers, that Ben, Alice, and Walter walked? Show or explain
how you got your answer.

Enter your answer and your work or explanation in the space provided.

what i did was add 50 plus 1.2 and 0.85 and thats how
i got my answer.My answer was 52.05
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This question has three parts.

Ben walked a distance of 1.2 kilometers. Alice walked a distance of 0.85 kilometer. Walter
walked a distance of 50 meters.

PartA
Whatis the distance, in meters, that Ben walked? Show or explain how you got your answer.

Enter your answer and your work or explanation in the space provided.

Ben walked 1,200 meters because you find how much
meters Ben walked from kilometers by multipling
1.2 x 1,000 = 1,200 meters that Ben walked.

PartB

How many more meters did Ben walk than Alice walked? Show or explain how you got your
answer.

Enter your answer and your work or explanation in the space provided.

Ben walked 350 more meters than Alice. First, you
find how much meters Alice had by multipling

0.85 x 1,000 = 850. Then, you subtract Alice's
meters from Ben's meters 1,200 — 850 = 350 more
meters than Ben walked.

PartC

What i the total distance, in kilometers, that Ben, Alice, and Walter walked? Show or explain
how you got your answer.

Enter your answer and your work or explanation in the space provided.

The total distance, in kilometers, that Ben, Alice, and
Walter walked is 2.10 kilometers. | found my answer
by first converting Walter's 50 meters to 0.05
kilometers. | did that by dividing 50 <+ 1,000 = 0.05
kilometers. Then, | added all the kilometers together
by adding 0.05 + 1.2 4+0.85 = 2.10 kilometers.




image4.png
This question has three parts.

Ben walked a distance of 1.2 kilometers. Alice walked a distance of 0.85 kilometer. Walter
walked a distance of 50 meters.

PartA
What is the distance, in meters, that Ben walked? Show or explain how you got your answer.

Enter your answer and your work or explanation in the space provided.

1,200 1.2 x 1,000 = 1,200

to get from kilometers to meters you multiply by 1,000

PartB

How many more meters did Ben walk than Alice walked? Show or explain how you got your
answer.

Enter your answer and your work or explanation in the space provided.

‘1,200 850 = 350 ”

PartC

What i the total distance, in kilometers, that Ben, Alice, and Walter walked? Show or explain
how you got your answer.

Enter your answer and your work or explanation in the space provided.

2.25 kilometers. | added 1.2; 0.85 and 0.2 together. ”
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This question has three parts.

Ben walked a distance of 1.2 kilometers. Alice walked a distance of 0.85 kilometer. Walter
walked a distance of 50 meters.

PartA
What s the distance, in meters, that Ben walked? Show or explain how you got your answer.

Enter your answer and your work or explanation in the space provided.

he walked 11.2 kilometers. 10 + 1.2 = 11.2
Because if you multiply you would get to small of a
number

PartB

How many more meters did Ben walk than Alice walked? Show or explain how you got your
answer.

Enter your answer and your work or explanation in the space provided.

1 did 10 x 0.85 and got 8.50 meters. Ben and Alice
walked 8.50 meters in all

PartC

Whatis the total distance, in kilometers, that Ben, Alce, and Walter walked? Show or explain
how you got your answer.

Enter your answer and your work or explanation in the space provided.

1 did 1.2 + 0.85 and got 2.05 kilomerters
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This question has three parts.

Ben walked a distance of 1.2 kilometers. Alice walked a distance of 0.85 kilometer. Walter
walked a distance of 50 meters.

PartA
Whatis the distance, in meters, that Ben walked? Show or explain how you got your answer.

Enter your answer and your work or explanation in the space provided

Ben walked 1,200 meters becuse there are 1,000
meters in 1 kilometer. That gives us 1,000 right of the
away. 0.2 of 1 kilometer is 200 meters.

1,000 + 200 = 1,200

PartB

How many more meters did Ben walk than Alice walked? Show or explain how you got your
answer.

Enter your answer and your work o explanation in the space provided

Ben walked 350 more meters than Alice did becuse
we alredy now that Ben had walked 1,200 meters.
Alice walked 0.85 of a kilometer which is 850 meters.
1,200 — 850 = 350.

PartC

What s the total distance, in kilometers, that Ben, Alice, and Walter walked? Show or explain
how you got your answer.

Enter your answer and your work o explanation in the space provided

All togethter they walked 2.1 kilometers becuse 1,200
meters was how much Ben walked. 850 meters was
how much Alice walked an Walter walked 50 meters.
1,200 4 850 + 50 = 2,100. 2,100 meters is equal
to 2.1 kilometers.




